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CM2	
	

Les	terminaisons	à	l’imparfait	

	
	

Numération		
	

	
	
Première	ligne,	comme	c’est	flou	:	6	unités	et	7	centièmes.		
	
2)	Range	dans	l’ordre	croissant	:		
	
0,45	/	0,123	/	1,2	/	0,42	
	
	
	
	



Résolution	de	problème	
	

	
	
Astuce	:	fais	un	dessin	du	gâteau.	
	
Correction	:		
Ordre	croissant		
0,123	/	0,42	/	0,45	/	1,2	
	
Résolution	de	problèmes	
	½	donné	à	Ulysse,		
¼	donné	à	Alice	
Il	lui	reste	¼	=	200g		
	
Le	quart	d’Alice	=	200g		
Le	demi	d’Ulysse	=	400g		
	
Le	gâteau	au	total	=	
400g	(	Ulysse)	+	200g	(	Alice)	+	200g	(	reste	à	Kriss)	=	800g	au	total	


